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11� >BKDHGLBJH<:GB? >?G?@GUO IHLHDH<�

;M>MS:Y B L?DMS:Y KLHBFHKLV� 

 
1 >bkdhglbjh\Zgb_ ^_g_`guo ihlhdh\� 
� Ijhp_glu b [m^msZy klhbfhklv� 
� L_dmsZy �^bkdhglbjh\ZggZy � klhbfhklv� 
� :ggmbl_lu 

��� ;m^msZy klhbfhklv Zggmbl_lZ� 
��� L_dmsZy klhbfhklv Zggmbl_lZ 
 

< g_dhlhjuo klZg^ZjlZo [mo]Zel_jkdh]h mq_lZ bkihevam_lky ihgylb_

^bkdhglbjh\Zgghc klhbfhklb ijb hp_gd_ nbgZgkh\uo hi_jZpbc� gZijbf_j

hi_jZpbc ih Zj_g^_� nbgZgkh\uf \eh`_gbyf gZ ^ebl_evguc i_jbh^

\j_f_gb�  
 
1 >BKDHGLBJH<:GB? >?G?@GUO IHLHDH< 
 
Ijhp_kk \ujZ`_gby gZebqguo kj_^kl\� dhlhju_ ^he`gu [ulv ihemq_gu \

[m^ms_f� q_j_a l_dmsmx klhbfhklv ihkj_^kl\hf klZ\db ijhp_glZ

gZau\Z_lky ^bkdhglbjh\Zgb_f� Z ihemqZ_fZy \ j_amevlZl_ \_ebqbgZ – 
^bkdhglbjh\Zgghc klhbfhklvx� 
<aZbfhk\yav \j_f_gb b ^_g_]� 

♦ ^_gv]b ljZlylky k p_evx ihemq_gby ijb[ueb�� 
♦ nbgZgkh\u_ \eh`_gby ^he`gu ^Z\Zlv ^hihegbl_evgmx ijb[uev

beb wdhghfbx� qlh[u hijZ\^Zlv wlb ljZlu� H^gZdh fu ^he`gu

hlf_lblv� qlh \_ebqbgZ ijb[ueb beb ^hoh^Z ^he`gZ [ulv

^hklZlhqgh \ukhdhc ^ey lh]h� qlh[u hdmiblv \eh`_gby�� 
♦ nbgZgkh\u_ \eh`_gby fh`gh kqblZlv wnn_dlb\gufb \ lhf

kemqZ_� _keb hgb ^Zxl dZd fbgbfmf lZdmx ijb[uev beb lZdhc

^hoh^� mjh\_gv dhlhjh]h dhfi_gkbjm_l bg\_klhjm

ijh^he`bl_evghklv hlj_adZ \j_f_gb� \ l_q_gb_ dhlhjh]h hg

^he`_g `^Zlv _]h ihemq_gby� 
LZdbf h[jZahf� ijb hp_gd_ ijh]jZff nbgZgkh\uo \eh`_gbc g_h[oh^bfh

mklZgh\blv� ^Z^ml eb nbgZgkh\u_ \eh`_gby ^hklZlhqgmx ijb[uev k mq_lhf

bo jZagh\j_f_gghklb� F_lh^ ^bkdhglbjh\Zgby ^_g_`guo ihlhdh\ - wlh

f_lh^ hp_gdb� dhlhjuc ijbgbfZ_l \ jZkq_l baf_g_gb_ klhbfhklb ^_g_] \h

\j_f_gb� 
<Z`gh ihgylv� qlh ijbf_g_gb_ ^bkdhglbjh\Zgghc klhbfhklb ^_g_] g_

aZ\bkbl hl bgneypbb� >jm]bfb keh\Zfb� ^Z`_ _keb bgneypby jZ\gy_lky

gmex� ^_gv]b \k_ jZ\gh bf_xl klhbfhklv k mq_lhf [m^msbo ^hoh^h\�
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dhlhju_ hgb fh]ml ijbg_klb ijb bg\_klbjh\Zgbb �l_hjby \f_g_gguo

ba^_j`_d beb mims_gghc \u]h^u�� 
 
2 IJHP?GLU B ;M>MS:Y KLHBFHKLV 
 
Ijhp_glu – wlh ^hoh^ hl ij_^hklZ\e_gby dZiblZeZ \ ^he] \ jZaebqguo

nhjfZo �kkm^u� dj_^blu b l�^��� eb[h hl bg\_klbpbc ijhba\h^kl\_ggh]h b

nbgZgkh\h]h oZjZdl_jZ� 
Ijhp_glu� dhlhju_ ijbf_gyxlky d h^ghc b lhc `_ i_j\hgZqZevghc

^_g_`ghc kmff_ \ l_q_gb_ \k_]h i_jbh^Z gZqbke_gby� gZau\Zxlky

ijhklufb� 
 
Ijbf_j� 
Kkm^Z \ jZaf_j_ ��� luk�l_g]_ \u^ZgZ gZ � ]h^Z ih ijhklhc klZ\d_ ijhp_glZ

��� ]h^h\uo� Ijhp_glu aZ � ]h^Z khklZ\yl� 
500,000*30%*3=450,000 l_g]_ 

<uqbke_gb_ keh`guo ijhp_glh\ – ijhp_kk� h[jZlguc ^bkdhglbjh\Zgbx�

lZd dZd ijb ihfhsb keh`guo ijhp_glh\ hij_^_ey_lky [m^msZy klhbfhklv

bf_xs_cky \ gZklhys__ \j_fy ^_g_`ghc gZebqghklb� 
Keh`gu_ ijhp_glu - ijhp_glu� ihemq_ggu_ gZ j_bg\_klbjh\Zggu_

ijhp_glu� l�_� ijhp_gl� \uieZqb\Z_fuc ih kkm^_ beb nbgZgkh\hfm

\eh`_gbx� ijbkh_^bgy_lky d hkgh\ghc kmff_� \ j_amevlZl_ q_]h ijhp_glu

\uieZqb\Zxlky b gZ hkgh\gmx kmffm� b gZ ihemq_ggu_ ijhp_glu� 
GZijbf_j� _keb [u k_cqZk gZf ij_^klhyeh \eh`blv ������ \ [Zgd ih^ �0% 
]h^h\uo k jZkq_lhf \uieZlu ijhp_glh\ jZa \ ]h^ �\ dhgp_ ]h^Z�� lh fu

jZkkqblu\Zeb [u gZ ke_^mxsb_ ihdZaZl_eb ^hoh^ghklb� 
Z� q_j_a ]h^ klhbfhklv bg\_klbpbb m\_ebqbeZkv [u ^h ke_^mxs_c

\_ebqbgu� 
$1,000 + 10% = $1,000 × (1 + 10%) = $1,000 × (1,10) = $1,100 
<uieZlu ih ijhp_glZf khklZ\beb [u ����� 
[� _keb [u fu ^_j`Zeb k\hb ^_gv]b gZ wlhf [Zgdh\kdhf kq_l_� lh q_j_a

^\Z ]h^Z klhbfhklv bg\_klbpbb khklZ\beZ [u ������ × 1.1 = $1,210. 
<uieZlu ih ijhp_glZf aZ \lhjhc ]h^ khklZ\beb [u ������-1,100) = $110. 

Wlh fh`gh aZibkZlv ih-^jm]hfm - ihdZaZ\� dZd gZ \_ebqbgm

i_j\hgZqZevghc bg\_klbpbb [ueb [u gZqbke_gu ijhp_glu aZ ^\Z ]h^Z� l�_� 
$1,000 × (1.1) × (1.1) = $1,000 × (1,1)2 = $1,210. 
\� ZgZeh]bqguf h[jZahf� _keb [u fu ijh^he`Zeb ^_j`Zlv ^_gv]b \

[Zgd_ b \ ke_^mxs_f ]h^m� lh klhbfhklv bg\_klbpbb \hajhkeZ [u \ dhgp_

lj_lv_]h ]h^Z ^h� 
$1,000 × (1.1) × (1.1) × (1.1) = $1,000 × (1.1)3 = $1,331. 
Ijhp_glu aZ lj_lbc ]h^ khklZ\beb [u ������ - 1,210) = $121. 
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Wlhl ijbf_j ihdZau\Z_l f_lh^bdm hij_^_e_gby klhbfhklb bg\_klbpbc ijb

bkihevah\Zgbb keh`guo ijhp_glh\� 
Ijbgpbiu keh`guo ijhp_glh\ bkihevamxlky ijb jZkq_l_ [m^ms_c b

l_dms_c �^bkdhglbjh\Zgghc� klhbfhklb ^_g_`guo ihlhdh\� 
;m^msZy klhbfhklv - klhbfhklv \ [m^ms_f bg\_klbjh\Zgguo k_cqZk

^_g_`guo kj_^kl\� 
>ey hij_^_e_gby klhbfhklb� dhlhjmx [m^_l bf_lv bg\_klbpby q_j_a

g_kdhevdh e_l ijb bkihevah\Zgbb ijhp_^mju keh`guo ijhp_glh\ - [m^ms_c
klhbfhklb� ijbf_gy_lky ke_^mxsZy nhjfmeZ� 

FV = PV (1 + r)n, 

]^_� FV - [m^msZy klhbfhklv bg\_klbpbb q_j_a Q e_l� 
       PV - kmffZ� \deZ^u\Z_fZy \ fhf_gl jZkq_lZ� 
       r - klZ\dZ ijhp_glZ \ \b^_ ^_kylbqghc ^jh[b �gZijbf_j ���  ������ 
       n - qbkeh e_l \ jZkq_lghf i_jbh^_ �i_jbh^bqghklv ih^kq_lZ

ijhp_glh\�� 
 
GZijbf_j� ij_^iheh`bf� qlh fu bg\_klbjm_f ������ ih^ ���� DZdh\Z

[m^_l klhbfhklv bg\_klbpbb q_j_a 
 
Z� � e_l" 
[� � e_l" 
 

;m^msZy klhbfhklv � ^heeZjZ q_j_a Q e_l ijb klZ\d_ ��� ijb\_^_gZ \

lZ[ebp_ &-3. 
 
Z� q_j_a � e_l�  S = 2,000 × 1,611 = $3,222 
 
[� q_j_a � e_l�  S = 2,000 × 1,772 = $3,544 
 
3 L?DMS:Y �>BKDHGLBJH<:GG:Y� KLHBFHKLV 
 
L_dmsZy klhbfhklv - ^bkdhglbjh\ZggZy klhbfhklv [m^ms_]h ^_g_`gh]h

ihlhdZ� 
DZd m`_ ]h\hjbehkv \ur_� ijbgpbiu keh`guo ijhp_glh\ bkihevamxlky

ijb jZkq_l_ ^bkdhglbjh\Zgguo ^_g_`guo ihlhdh\ k mq_lhf lh]h� qlh

^bkdhglbjh\Zgb_ - wlh jZkq_l keh`guo ijhp_glh\ ³gZh[hjhl´� 
Bkihevamy f_lh^ ^bkdhglbjh\Zgby� fu fh`_f hij_^_eblv l_dmsmx

klhbfhklv [m^msbo ^_g_`guo ihlhdh\� l�_� jZkkqblZlv kmffm� dhlhjmx gZf

g_h[oh^bfh \eh`blv k_cqZk ih hij_^_e_gghc klZ\d_ ijhp_glZ �gZijbf_j�
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���� ^ey lh]h� qlh[u q_j_a hij_^_e_gguc i_jbh^ \j_f_gb �� ]h^Z�

klhbfhklv bg\_klbpbc khklZ\beZ� d ijbf_jm� ������� 
?keb nhjfmeZ [m^ms_c klhbfhklb >FV = PV × (1 + r)n@ ihdZau\Z_l� dZd

\uqbkeblv [m^msmx klhbfhklv ijb ba\_klghc gZqZevghc \_ebqbg_

bg\_klbpbb� lh l_dmsZy klhbfhklv h`b^Z_fuo [m^msbo ihklmie_gbc

jZkkqblu\Z_lky ih nhjfme_ 

PV = FV / (1 + r)n = FV × [1 / (1 + r)n], 

dhlhjZy ij_^klZ\ey_l kh[hc [Zah\mx nhjfmem ^bkdhglbjh\Zgby� 
L_dmsZy klhbfhklv � ^heeZjZ aZ jZaebqgu_ i_jbh^u b ih jZaguf

ijhp_glguf klZ\dZf ijb\_^_gZ \ lZ[ebp_ &-1. 
<ha\jZsZykv d ijbf_jm� ^ey lh]h qlh[u q_j_a q_luj_ ]h^Z klhbfhklv

bg\_klbpbb khklZ\beZ ������ ijb klZ\d_ ��� gZf g_h[oh^bfh \eh`blv

ke_^mxsmx kmffm� 
PV = 5,000 × [ 1 / (1,06)4] = 5,000 × 0,792 = $3,960. 

 
4 :GGMBL?LU 
 
< [hevrbgkl\_ kh\j_f_gguo dhff_jq_kdbo hi_jZpbc ih^jZamf_\Zxlky g_

jZah\u_ ieZl_`b� Z ihke_^h\Zl_evghklv ^_g_`guo ihklmie_gbc �beb�

gZh[hjhl� \uieZl� \ l_q_gb_ hij_^_e_ggh]h i_jbh^Z� Wlh fh`_l [ulv k_jby

^hoh^h\ b jZkoh^h\ g_dhlhjh]h ij_^ijbylby� j_]meyjgu_ beb g_j_]meyjgu_

\aghku kha^Zgby jZagh]h jh^Z nhg^h\ b l�^� LZdZy ihke_^h\Zl_evghklv

gZau\Z_lky ihlhdhf ieZl_`_c� 
:ggmbl_l �beb nbgZgkh\Zy j_glZ� – ihlhd h^ghgZijZ\e_gguo ieZl_`_c k
jZ\gufb bgl_j\ZeZfb f_`^m ihke_^h\Zl_evgufb ieZl_`Zfb \ l_q_gb_

hij_^_e_ggh]h dhebq_kl\Z e_l� 
L_hjby Zggmbl_lh\ y\ey_lky \Z`g_cr_c qZklvx nbgZgkh\hc fZl_fZlbdb�

HgZ ijbf_gy_lky ijb jZkkfhlj_gbb \hijhkh\ ^hoh^ghklb p_gguo [mfZ]� \

bg\_klbpbhgghf ZgZeba_ b l�^� GZb[he__ jZkijhkljZg_ggu_ ijbf_ju

Zggmbl_lZ� j_]meyjgu_ \aghku \ i_gkbhgguc nhg^� ih]Zr_gb_

^he]hkjhqgh]h dj_^blZ� \uieZlZ ijhp_glh\ ih p_gguf [mfZ]Zf� \uieZlu

ih j_]j_kkguf bkdZf� 
:ggmbl_lu jZaebqZxlky f_`^m kh[hc ke_^mxsbfb hkgh\gufb

oZjZdl_jbklbdZfb� 
• \_ebqbghc dZ`^h]h hl^_evgh]h ieZl_`Z� 
• bgl_j\Zehf \j_f_gb f_`^m ihke_^h\Zl_evgufb ieZl_`Zfb �i_jbh^hf

Zggmbl_lZ�� 
• kjhdhf hl gZqZeZ Zggmbl_lZ ^h dhgpZ _]h ihke_^g_]h i_jbh^Z �[u\Zxl b

g_h]jZgbq_ggu_ ih \j_f_gb – \_qgu_ Zggmbl_lu�� 
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• ijhp_glghc klZ\dhc� ijbf_gy_fhc ijb gZjZs_gbb beb ^bkdhglbjh\Zgbb

ieZl_`_c� 
 
:ggmbl_l� ^ey dhlhjh]h ieZl_`b hkms_kl\eyxlky \ gZqZe_

khhl\_lkl\mxsbo bgl_j\Zeh\� ghkbl gZa\Zgb_ Zggmbl_lZ ij_gmf_jZg^h; 
_keb `_ ieZl_`b hkms_kl\eyxlky \ dhgp_ bgl_j\Zeh\� fu ihemqZ_f

Zggmbl_l ihklgmf_jZg^h �h[udgh\_gguc Zggmbl_l� – kZfuc

jZkijhkljZg_gguc kemqZc� 
GZb[hevrbc bgl_j_k k ijZdlbq_kdhc lhqdb aj_gby ij_^klZ\eyxl

Zggmbl_lu� \ dhlhjuo \k_ ieZl_`b jZ\gu f_`^m kh[hc �ihklhyggu_

Zggmbl_lu�� eb[h baf_gyxlky \ khhl\_lkl\bb k g_dhlhjhc

aZdhghf_jghklvx� Bf_ggh lZdb_ Zggmbl_lu fu b bamqbf� 
 
��� ;m^msZy klhbfhklv Zggmbl_lZ 
 
;m^msZy klhbfhklv Zggmbl_lZ - kmffZ [m^msbo klhbfhkl_c dZ`^hc

hl^_evghc \uieZlu beb ihklmie_gby� \dexq_gguo \ Zggmbl_l� 
GZijbf_j� fu fh`_f bg\_klbjh\Zlv \ l_q_gb_ �-o e_l ���� ih klZ\d_ ���

]h^h\uo k gZqbke_gb_f ijhp_glh\ dZ`^uc ]h^� DZdh\Z [m^msZy klhbfhklv

Zggmbl_lZ \ ����" 

>ey jZkq_lZ ijbf_gy_lky nhjfmeZ [m^ms_c klhbfhklb FV = PV × (1 + r)n 
^ey dZ`^h]h i_jbh^Z hl^_evgh� 

;m^msZy klhbfhklv ����� bg\_klbjm_fuo \ dhgp_ dZ`^h]h ]h^Z \ l_q_gb_ �

e_l� 

1-c ]h^  $250 × (1 + 0.1)2 = 250 × 1.21 = $302,50 
2-c ]h^ $250 × (1 + 0.1) =   250 × 1.1 =  $275 
3-c ]h^                           $250 × 1 =   $250 
                   $827.50 
 
>ey h[e_]q_gby jZkq_lh\ ijbf_gy_lky ki_pbZevgZy lZ[ebpZ [m^ms_c

klhbfhklb Zggmbl_lZ \ � ^heeZj� \uieZqb\Z_fh]h \ dhgp_ ]h^Z �lZ[ebpZ K-
��� ihevamykv dhlhjhc fu ihemqbf� ���� × 3.31 = $827,50. 
 
4.2 L_dmsZy klhbfhklv Zggmbl_lZ 
 
L_dmsZy �^bkdhglbjh\ZggZy� klhbfhklv Zggmbl_lZ - kmffZ l_dmsbo

klhbfhkl_c dZ`^hc hl^_evghc \uieZlu beb ihklmie_gby� \dexq_gguo \

Zggmbl_l� 
>ey hij_^_e_gby l_dms_c klhbfhklb [m^msbo ihklmie_gbc beb \uieZl \

khhl\_lkl\bb k dhgljZdlZfb ih nbgZgkbjm_fhc Zj_g^_� dhlhju_ lj_[mxl
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jZ\ghagZqguo ieZl_`_c gZ ijhly`_gbb jZ\guo bgl_j\Zeh\� bkihevam_lky

l_dmsZy klhbfhklv Zggmbl_lZ� 

GZijbf_j� l_dmsZy klhbfhklv Zggmbl_lZ \ ���� gZ ljb ]h^Z ih^ ���

]h^h\uo� \uieZqb\Z_fuo \ dhgp_ dZ`^h]h ]h^Z fh`_l [ulv jZkkqblZgZ k

ijbf_g_gb_f nhjfmeu l_dms_c �^bkdhglbjh\Zgghc� klhbfhklb 3V = FV × 
[1 / (1 + r)n @ ^ey dZ`^h]h i_jbh^Z hl^_evgh� 

1-c ]h^ $250 × [1 / (1 + 0.1)] = 250 × [1 / (1.1)] = 250 × 0.9090 = $227.2 
 
2-c ]h^ $250 × [1 / (1.1)2] =  250 x [1 / (1.21)] =  250 × 0.8263 = $206.57 
 
3-c ]h^ $250 × [1 / (1.1)3] =  250 x [1 / (1.33)] =  250 × 0.7518 = $187.95 

                                $621.72 
Wlh]h `_ kZfh]h j_amevlZlZ fh`gh ^hklbqv [he__ ijhkluf iml_f k

ijbf_g_gb_f lZ[ebpu l_dms_c �^bkdhglbjh\Zgghc� klhbfhklb Zggmbl_lZ \

� ^heeZj� \uieZqb\Z_fh]h \ dhgp_ i_jbh^Z �lZ[ebpZ K-2): 
$250 × 2,4868 = $621,72 
 

<h \k_o kemqZyo� dh]^Z \ ijhba\hevghf ihlhd_ ieZl_`_c \klj_qZxlky

k_jbb� dhlhju_ fh]ml [ulv hibkZgu dZd ihklhyggu_ beb baf_gyxsb_ky

ih g_dhlhjhfm aZdhgm Zggmbl_lu� ke_^m_l h[jZsZlv \gbfZgb_ gZ

gZqZevguc fhf_gl b kjhd wlbo Zggmbl_lh\� g_ kh\iZ^Zxsb_ k gZqZevguf

fhf_glhf b kjhdhf ihegh]h ihlhdZ ieZl_`_c� 
 
Ijbf_j 

GZclb l_dmsmx klhbfhklv ihlhdZ ieZl_`_c� hij_^_ey_fh]h ke_^mxsbf

h[jZahf� i_j\uc ]h^ – ihklmie_gby $���� \lhjhc ]h^ – ihklmie_gby �����

lj_lbc ]h^ – \uieZlZ $4��� ^Ze__ \ l_q_gb_ k_fb e_l – ^hoh^ ih $500. 
KlZ\dZ ^bkdhglbjh\Zgby – �� ]h^h\uo� 
 
J_r_gb_  
< ^Zgghf ijbf_j_ ihlhd ieZl_`_c \ l_q_gb_ k_fb ihke_^gbo e_l

ij_^klZ\ey_l kh[hc ihklhygguc Zggmbl_l� Fu fh`_f jZkkqblZlv _]h

l_dmsmx klhbfhklv ih nhjfme_� gh g_evay aZ[u\Zlv� qlh wlh [m^_l l_dmsZy

klhbfhklv gZ gZqZeh q_l\_jlh]h i_jbh^Z� 
 
PV0=500*5,5824=2791,2 
 
�dhwnnbpb_glu ijb\_^_gby gZoh^bf ih lZ[ebp_ K-��� >Ze__ gZoh^bf

l_dmsmx klhbfhklv ihlhdZ ieZl_`_c ^ey \k_o hklZ\rboky ieZl_`_c b

\_ebqbgu PV0: 
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PV1=500*0,9434=471,7 
PV2=200*0,89=178 
PV3=(400)*0,8396=(335,84) 
PV4=2791,2*0,8396=2344,49 
 

KdeZ^u\Zy ihemqb\rb_ky \_ebqbgu� gZoh^bf l_dmsmx klhbfhklv \k_]h

ihlhdZ ieZl_`_c� 
 

PV=471,7+178+(335,84)+2344,49=2658,35 
 
 

IJ:DLBQ?KD:Y J:;HL: IH >BKDHGLBJH<:GBX 
 
1.  JZkkqblZcl_� dZdZy kmffZ gZdhiblky ijb bg\_klbpbb \ jZaf_j_ ������� ih^

��� ih bkl_q_gbb iylb e_l" 
 
 
2.  Hij_^_ebl_ l_dmsmx klhbfhklv �������� dhlhjZy ^he`gZ [ulv ihemq_gZ

q_j_a �� e_l ijb ijhp_glghc klZ\d_ ���� 
 
 
3.  Kh]eZkgh Zj_g^ghfm dhgljZdlm ^he`gZ ijhba\h^blvky _`_]h^gZy Zj_g^gZy

ieZlZ \ jZaf_j_ ������ gZ ijhly`_gbb k_fb e_l� Ij_^mkfhlj_ggZy ijhp_glgZy

klZ\dZ khklZ\ey_l ���� DZdh\Z l_dmsZy klhbfhklv Zj_g^guo ieZl_`_c" 
 
 
4.  Bg\_klhj gZf_j_g \deZ^u\Zlv \ dhgp_ dZ`^h]h ]h^Z ih ������� \ l_q_gb_

ihke_^mxsbo � e_l ih^ ��� ]h^h\uo� DZdZy kmffZ [m^_l \ nhg^_ ih

bkl_q_gbb � e_l" 
 
 
5.  <u \ub]jZeb \ ehl_j_x �� fbeebhgh\� Ih mkeh\byf ehl_j_b kms_kl\m_l �

kihkh[Z ihemq_gby \ub]jurZ� 
1)  ihemqZlv ih ���������� _`_]h^gh gZ ijhly`_gbb �� e_l� 
2)  ihemqblv kjZam \kx kmffm \ub]jurZ� dhlhjZy \ wlhf kemqZ_ khklZ\bl

$5,650,000.  
MklZgh\e_ggZy ijhp_glgZy klZ\dZ ih ZgZeh]bqguf \eh`_gbyf khklZ\ey_l

���� DZdhc kihkh[ ihemq_gby \ub]jurZ \u \u[_j_l_" 


